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� ®º�À¯�µz��\¬��>È¯Z§�z¿±�ª¨��°®�AB�¶¬À¯
� ÄÂ°�z]�ª¨��¢]Z�¯�200 KN�°Z]�¶¨´¿¦�±¦�ª^£�Â�
� �Â�¾¬� ¯�A�¾Z�c¦�v�Z^À¯�¾¤�¦�®º��®°¦Â�À¡�

� ¾�¯�¶¬À¯�Â�EB�Ä®Çº��¶¬À¯�¶¬À�Â�¶]�AB�¶¬À¯
� �¶]�EB�Â�CD�¾º���b�¦�Áv��¶d�¦v¸.³�CD

� z]¦z]CD ���¤¯�boZ�¯�v�Z^À¯�2 m�Â�1 m�\Àczc
� 250 mm

2�z]¦z]�EB���¤¯�boZ�¯�Â�500 mm
2�

�²ÀÀ�c�®WZ£�ÄZ·�¶¬À¯�±¦�¦¿�z·�°®�¦°�Z¸�´c��v�Z^À¯�
�~¯�¾�Zlc°¦�\¿z��vÀ¿Z°³�z�´��z��AB�À±Â�±¦�vÀ´§�

� �v�Z^À¯�200  1 09 N/m
2�®Çº��¾�Zlc°¦�\¿z��Â�120  109 N/m
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� »z��¦¿�¶³v]�¦¿�ÄÂ°�z]�¦°�30 mm��¬��¶]�¾�]z¯
� �±¦�~��®¿¦�Á®º°³�®À�zc�á°|]�Ä®Çº��°Z���bpc�
�¢]Z�¯��]z¯�°®�Ä°ºp¯�Â®��´c��¿¦z��°Z���®Z¿®±¦
� v�Z]�v=0.3 �Â�E=200 GPa�°á¦�®º]�v·¦ºs�ª¨��

� ��°®�¾º��zÀ�c�¶^�Zp¯�b�¦�§º¬�¯�
� AC�z�£�®����������BC��¬��§������AB��¬���«¦�
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� 500 mm

� 500m m
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� ;x=80 mpa

� ;y=40 mpa
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� �Ä°Z���ÄZ¸�´c�zh§¦vo�²ÀÀ�c�b�¦�§º¬�¯
� °®�Áv��Á®¦®�ÀZ�³�Ä¦�Áz��zÀc�°®�¾��§�Â

� ®°¦Â�Á®zd�-�°Z]�°¦v¤¯�¶§�¾c°º��°®�z¿±�ª¨��
� ¶]�À¡���¤¯�Â�100 kg/m�°¦v¤¯�¶]�zÀc�z]�
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�°®�Â��Î�Î���¤¯��ÀZk�¶]�¾Z]�²Z°c�ªp¯�°®�z¿±�ª¨��zÀc�Ä¦z]¦°�¾�z]��´c�z¿±�ª¨��zÀc���¤¯�°®
� �v¿°Â¡�b�®�¶]�z¿±�À°Z¤d¯Z³�ª¨��I���¤¯�±¦�Ï�Ï���¤¯�¾h´s°Zc�ªp¯
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�µz�¯�°®�¶§�¾³¦zp]���Z¤¯�°®�¦°�®WZ£�ÄZ¸�´c�ª£¦vo�Â�zh§¦vo�z¿±�ª¨��¶¬À¯ �zÀc�®d�À��°®
� �vÀ´§�²ÀÀ�c�v´�Z^À¯��´c
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� 2 m � 2 m

� 5 T

� 60cm

� 1
0
0

cm
� 10cm

� 10cm

� 15 cm

� 40cm

� L=4m

� W=100 kg/m

� P=150 kg

� P=150 kg

� 5 cm

� 2 cm

� 12 cm

� 2 cm


